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(37.) . Streamlines are lines which are T‘aﬂgen‘f‘ To the

veloc/fa_ veoTor’ 87/' d’ﬂ; f 1‘/1@1)" PomTS
yes oY’ no ?

(37)2, Pa‘f/') ines are [ines which are ‘faﬂg&,ﬂ“ J»  the ve(oa"fdr,
vedor af ang af their points

(€73 In f/u,‘d ]C(W’, conseryston Of

volume s egaiva/en*f'
Lo conservation oA mass,

Yes oY no ? wh;l ?
(5704 ; . 2 rgz=andonl s called the Bernoull

Yes or no? w}\yfg

ezaaﬁon/ ond /s um’verfdléf avachble wn The £ (ow
fietd,  Yes or no? ““(/?

| . ‘ ‘ 2 -z
) (5/’)5 The ol4mensfona// formu'/a -for Iorcssufe 's ML T
‘ YfS or no wl?/ ?

(; 7') é. ZY] 2 f{b(/‘d 7[/01\)/‘ j-he d,('rec‘hbn D]ﬂ Me dCCe/er&ﬁon
vector coincides 'Q{way.s with Thy z?/[ the Frefsb"'e
gradient.  Yes or no? Lhy !

(5/)7. In Sfeadét f/tu‘d 7[/0‘*), the nel~ momenmtum f/ux

Q({uals the sum o]ﬂ the 7[o)'c-es on Zthe cénf'ro/ volume
considered.

Yes or no (A)A77
(5 %)% The ngum{p'h’on o][ l'ncomffesﬁb'/f?‘} (s a'ccelo"féble

'n FEluid Heahw,'c; on/; 7[vr‘ /igwfc!s) noT 7[or Falad
\{cs o o, wh? ?
(<7 7. A JC{%’ with variable dens

stﬂno'f be
imcompressiple

Yes or no? l")h)’?
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(5"%)10. %/;-+ v-((ﬂV):o is valld 7[.0)’ both [aminar +low

and  furbulenT 7[(000. Yes or nol? "Oly?

(S‘Z)//. Conservation of volume s a wnsegqence of
conservafion of mass,  Yes or no? w}7 2

| (5‘7,)/2\ When The Ve/au‘{y of S f/ou s ?ﬁxen bj v = V‘f)
the flow is irrotational e wxv=o
Yes or no? L«Jh77

(fZJ (3, If 4 JC/“/"J f/ow can be expressed unm derms of a
stream ][o(nr:ffon/ so that V= g—-;-'/ Vy = —2% the

o X

rd

fiuid  must behave as in compressible.
\(e; or )’Lo,] l,\)h79 |
14 A M—oh’mens,’onal f(ow (s ?,('ven la] aQ Ue(ou"éy

potentral = (aimxy) (e fr) whin X and P
denote the Carfesian cooydinafes A the #ime

% o constanl
(3 %) ® Congeryatron o]Z volume cannol” be chedked For
this flow because toe do nét™ know (/[ The
de‘ns:‘fy (s conslanl. Yes or no? Lhy ? |
(3)® Thys Flow has constant \/orchf-/?_ Yes or no?
why ?
(370® This flow has |ocal accelerstron different

ULM geve bul the convedive acceleralion ic
jora wwergohsre, Yer or no? Loh,
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(47.? ® There ore '.”7‘:"”'.1‘6 pO/hTS on s Flw w(Th
5ero \/eloc,ﬂLJ_ \fes or no 7 why?
(9%)/5', 7}1€ A/&VI’W—S"{'okej ejuaiﬁbns ][o)’ the ]C(OL\) a][
a A/ewTonrafn /ncompresg(b ][(oud w:’f'h CO/“TMT
V.\swg,\}y M is ?4\/3)1 in  vedlor ][orm b/

— 2 - T
OV 4 o (Vo IV=IPpTY (7

EXf{aq‘n in words whal each #erm 07[ the eg?avf?‘on

represents,
(572016, The cfrculaz‘.‘oﬁ A IrroTationaf flows (S
M»oa(éts §ero. Yes or no’ L\)l\f,?
1T Explain the physicsl medning of!
(3%) () Regnolds  nuwber
(3%) (b Froude number |
(107018 Draw the Moodys diagram and explain it
Igrfefly




